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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1a 7768 0.8 0.4 1 76.6 99.9

1b 7757 0.8 0.4 1 78.5 99.8

1c 7730 0.5 0.5 1 46.3 99.4

2a 7767 2.5 0.8 3 84.5 99.9

2b 7666 1.7 0.6 2 83.8 98.6

3a 7621 2.8 1.2 4 69.9 98

3b 7580 2.2 1.2 3 72.3 97.5

4a 7729 0.9 0.9 2 44.7 99.4

4bi 7761 1.9 0.4 2 94.1 99.8

4bii 7665 1.3 0.8 2 65.1 98.6

5a 7636 0.9 0.9 2 43.8 98.2

5b 7585 1.3 0.9 2 62.5 97.6

6 7392 1.4 0.8 2 72.3 95.1

7 7377 1.7 1.3 3 56.7 94.9

8 7487 2.1 1.6 5 41.9 96.3

9 7349 3.5 2.5 7 50.7 94.5

10 7461 0.8 0.9 2 40 96

11a 7169 1.5 1.4 3 50 92.2

11b 6733 1.1 0.9 2 57 86.6

12 7650 1.8 1.5 4 45.9 98.4

13a 6216 0.2 0.4 1 21.7 80

13b 6993 0.9 1.3 3 29.3 89.9

13c 4133 0 0.2 1 2.5 53.2

14a 7697 0.4 0.5 1 40.8 99

14b 7690 0.3 0.5 1 33.4 98.9

15a 7219 1 0.9 2 52.3 92.8

15b 7025 0.8 0.7 2 38.6 90.3

16a 7219 0.7 1 3 24.4 92.8

16b 5464 0.5 0.5 1 49 70.3

16c 5137 0.3 0.5 1 33.2 66.1

17a 7477 0.9 1.2 3 29.9 96.2

17b 6661 0.3 0.7 2 14.3 85.7

18a 5765 0.3 0.7 2 16.4 74.2

18bi 6900 0.8 1 2 42.1 88.8

18bii 6602 0.5 0.8 2 22.9 84.9
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GCSE Mathematics Unit 1 Higher 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3.(b)               22 – f = 3 × 6  or equivalent. 
                 22 – 18 = f    OR  −f = 18 – 22 
                                 f = 4 


M1 
A1 
A1 


 
 
CAO. Accept 4 = f.      M1A1A0 for –f = –4. 
Mark final answer. 
Allow all 3 marks for 22 – 4 = 6 with no further 
work.                             3 
Allow 2 marks for 22 – 4 = 6 followed by ‘f ≠ 4’. 
                                 3 
If no marks gained,  
Allow SC1 for an unsupported f = −4. 
Allow SC1 for sight of 18 from 3 × 6. 
 












 


 



Sticky Note

This candidate gets a method mark for a correct first step of multiplying 6 by 3 to get 18 (even though too many '3s' appear in the first line). No further marks are awarded though, as multiple sign errors result in an incorrect answer of f = 40.












 


 



Sticky Note

Only 1 mark is awarded here.  The candidate has correctly multiplied 6 by 3 to get 18, but the 'f' has then lost its minus sign.  Had the candidate written '-f = 18 - 22' or '-f = -4' (either of which is a correct statement), the second mark would have been awarded (followed by a possible third mark for a final answer of 'f = 4').












 


 



Sticky Note

No marks are awarded here as the initial step is incorrect, indicating a lack of understanding of the appropriate order of operations.












	 (b)	 Solve                     .	 [3]


	


	


	


	


	


	


	


22 − f
3


= 6












 


 












 


 


 


 












 


 


 












 


7.            
                                (ADC =)  109(°) 
                        x = 180 −26 – 109 
                                                         = 45(°) 


 
B1 
M1 
A1 


Answers may be written on the diagram. 
Allow for sight of 109(°). 
FT ‘their 109°’ (may be clearly indicated on the 
diagram) provided ≠ 71 and ≠ 26. 
An answer of 45(°) gains all 3 marks. 
 


  












 


 



Sticky Note

This candidate believes that angle ADC is 142 degrees, having mis-interpreted angle ABC as if it were an angle in the centre of the circle. 
The first mark is therefore not given. 
M1 and A1 are then awarded for correctly using the angle sum within triangle ACD, and following through for angle ADC.
2 marks altogether.












 


 


 


 



Sticky Note

No marks are awarded here.
The candidate appears to think that the opposite angles in cyclic quadrilateral ABCD are equal.  No marks are then followed through in this case.












 


 


 



Sticky Note

This candidate believes that angle ADC is 90 degrees, having mis-interpreted it as if it were an angle in a semicircle, with AC as a 'diameter'. 
The first mark is therefore not given. 
M1 and A1 are then awarded for correctly using the angle sum within triangle ACD, and following through for angle ADC.
2 marks altogether.













7.	 Calculate the size of angle x in the diagram below.	 [3]


71°


26°


A


B


C


D


x


Diagram not drawn to scale
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16. (a) 


x –2 –1 0 1 2 


y   1 2 4 


 
Suitable choice of uniform scales through the origin, 


x from – 2 to 2 and y from 0 to 4, AND plotting at 
least 3 points correctly. 
 
 
 
Joining with a curve. 
 


 
B1 


 
 
 
 


B1 
 
 
 
 
 


C1 


 
Any 3 correct pairs of coordinates (need not be for 
integer values of x.) Must include one negative 
value of x. 
 
 


FT their evaluations of y if shown (provided they 
do not produce a straight line). 
Must include one negative value of x. 


Tolerance for accuracy ±  a small square. 


 
CAO. Exponential curve which passes through  


(-2, ), (0, 1) and (2, 4).  
Must not intercept x axis anywhere, including 
beyond the required range of x values. 


Tolerance for accuracy ±  a small square. 


 
If no table or evaluations of coordinates are given 
(for at least 3 pairs of values, including one 
negative value of x), then 
B1 B1 may be implied by C1  
or  
if C0, B1 B1 may be implied by 3 correctly plotted 
points for y = 2


x 
(including one negative value of 


x). 
 
 


  












 


 



Sticky Note

No marks are awarded here.
For the first mark, it is necessary to correctly evaluate at least 3 y-values (including one for a negative x-value) - this mark is therefore not given.
The second mark is not awarded because following through is not allowed for a straight line. (Also, a uniform vertical scale is required and it is not therefore possible here to plot the points with negative x-values.) 
The third mark cannot be awarded as an exponential curve is required. (It is worth noting that, even if the points were correctly calculated and plotted, joining them with straight lines would prevent the third mark from being given.)












 


 


 


 



Sticky Note

For the first mark, it is necessary to correctly evaluate at least 3 y-values (including one for a negative x-value) - this mark is therefore not given.
For the second mark, 3 points need to be correctly plotted (including one for a negative x-value) - since the candidate's coordinate calculations can be followed through, this mark is awarded.
The third mark cannot be awarded as an exponential curve is required.
1 mark in total.













 


 


 


 


 



Sticky Note

The first mark is awarded here as the y-values have been correctly evaluated (including one for a negative x-value).
For the second mark, 3 points need to be correctly plotted (including one for a negative x-value) - this mark is not awarded in this case.
The third mark cannot be awarded as an exponential curve is required (passing through (-2, 0.25), (0, 1) and (2, 4)). 
1 mark in total.
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16.	 (a)	 Draw the graph of the curve y = 2x for values of x from –2 to 2.
		  Use the graph paper below.	 [3]
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